@ bigood #&Eis

BTP#2fZ§E4%E [BTP/BTP-X]

Ty

CERPHT |0

ualsl i.Miiuiunﬁw-ﬁii Pra—— - N

S L A A it
MR T O TR

o REEF PR AR L YIE

o A 5B AR B S I B AR S L 2
« BPHCE, RS

< S A A TR S A 5
AR, SCHLHERR 222

Bt REEMARRGE R B L

C20/25-C50/60

RIEM i WmiRE L  REERMELT

o 1] T A2 Amr 2

it % RF30 -RF120;
AR e J
» ETA22/0803 (244 HIHF 245 1) ~JRpZ R A
« fif ’k R30-120 —
FiEC1. C2 i
«JG/T160 N &% e

o BEAEEE A4
- NUBbitiid s

ETal =

- bR

- HUB

“E

* TRk - R [ SE
. AR
Bl B ARk
FERR R . DTN
PS4 R 45 (A [ E




@ bigood #&Eis

BTP#2fZ§E4%E [BTP/BTP-X]

TS

A [mm] M8 M10 M12 M16 M20 M24

EhFLILAE do [mm] 8 10 12 16 20 24
HitR FLAz dq [mm] 9 12 14 18 22 26
BEFLIRE h, [mm] 60 75 85 105 125 155
BN R Pimin [mm] 100 120 140 170 200 250
A RIHIR hes [mm] 48 60 70 85 100 125
WEEYIREE  t [mm] 2-195 2-200  2-200  2-235 2-305  2-380
G FEEEE (HEFE) Sen [mm] 144 180 210 255 300 375
G S AEE (HEJE) Con [mm] 72 90 105 128 150 188
SRR (B2 S, [mm] 288 300 350 425 500 560
G A 8E (BE2E) Cugp [mm] 144 150 175 213 250 280
Be/MAlgE Srmin [mm] 50 60 70 85 100 125
fe/NB R Chin [mm] 50 60 70 85 100 125
LA g [N.m] 20 40 60 100 200 250
W B SW 13 17 19 24 30 30

R
4 = =
9 & ® ® /
el & A R HEnFA%E

Da




@ bigood #&Eis

BTP#2f23:42 [BTP/BTP-X]

BEERZRBNHEE (BRER)
HIEERT

- IR e

SJoILEE . TRIBESL L /MR R
-C20/25i Kk +-FH, fis cuve = 25N/ mm’

- AR A
A 1% M8 M10 M12 M16 M20 M24
R BRLEN
A NFHEE
ZHINgaIkN] 9 16.1 20.2 35.1 50 60
Z B VruKN] 11* 17 4* 25.3* 47.1* 73.1* 84.7*
Wit
ZRINgg[KN] 5 10.6 13.3 23.3 33.3 40
ZBIVRy[kN] 8.8 13.9 20.2 37.6 58.4 67.7
HEEIR IR
FHIN oo[kN] 35 7.6 8.7 16.6 23.7 28.5
FHV ookN] 6.2 9.9 14.4 26.8 41.7 48.3
IR R EM
A IFFEE
ZHINgaIKN] 5 9.1 12.2 25 30.1 40
Z BTV reIkN] 11* 17.4* 25.3* 47 1* 73.1* 84.7*
Wit farE
ZHRINgg[KN] 27 6 8 16.6 20 26.7
ZBIVgy[kN] 8.8 13.9 20.2 37.6 58.4 67.7
Eii =3 AR
ZHINoo[kN] 2 4.2 57 11.8 14.2 19
Z 5V e [kN] 6.2 9.9 14.4 26.8 41.7 48.3

A EEREHASINBERSTIAY y=1477, @iRITEHREE.



@ bigood #&Eis

BTP#2fZ§E4%E [BTP/BTP-X]

FL1Rd, FREFLIRN,

[mm]

BTP

WEAT: DA AR AT
TR B - AAANER A

[mm]

2ACL [mm]

RAHEEEREE
tfix[mm:|

BRYE[X] BHEBE(X]

14505108075
14505208095
14505308115
14505410090
14505510105
14505610115
14505710135
14506212120
14506412150
14506512180
14506612200
*14506712220
*14506812255
14506716145
14506816175
14506916220
14507016250
*14507116300
14507120170
14507220200
*14507320260
14537324205
14537424235
“PAFERER

BTP M 8x75

BTP M 8x95

BTP M 8x115
BTP M 10x90
BTP M 10x105
BTP M 10x115
BTP M 10x135
BTP M 12x120
BTP M 12x150
BTP M 12x180
BTP M 12x200
BTP M 12x220
BTP M 12x255
BTP M 16x 145
BTP M 16x175
BTP M 16x220
BTP M 16x250
BTP M 16x300
BTP M 20x170
BTP M 20x200
BTP M 20x260
BTP M 24x205
BTP M 24x235

8
8
8
10
10
10
10
12
12
12
12
12
12
16
16
16
16
16
20
20
20
24
24

60
60
60
75
75
75
75
85
85
85
85
85
85
105
105
105
105
105
125
125
125
155
155

75
95
115
90
105
115
135
120
150
180
200
220
255
145
175
220
250
300
170
200
260
205
235

10
30
50
10
25
35
55
25
55
85
105
125
160
28
58
103
133
183
32
62
122
35
65

100
100
100
100
50
50
50
50
50
50
50
50
50
25
25
25
25
25
20
20
20
10
10

800
600
400
400
300
200
200
200
100
150
150
150
150
100
50
50
50
50
40
40
40
30
20



@ bigood #&Eis

BTP#2f23:42 [BTP/BTP-X]

=

BTP-X

WEAT A AR AT

WK < B A b

FLRdO FREFLR

B mKHEEE

+14949106070
+14949206080
+14949306090
+14949406100
15457508075
15457608095
15457708115
*15457808130
15457810090
15457910105
15458010115
15458110135
15458210165
15458310185
15458512100
15458612110
15458712120
15458912150
15459012180
15459112200
*15459212225
*15450016125
15459216145
15459316175
*15450016185
15459416220
*15450016235
*15450020150
15459620170
15459720200

BTP-X M6x70
BTP-X M6x80
BTP-X M6x90
BTP-X M6x100
BTP-X M8x75
BTP-X M8x95
BTP-X M8x115
BTP-X M8x130
BTP-X M10x90
BTP-X M10x105
BTP-X M10x115
BTP-X M10x135
BTP-X M10x165
BTP-X M10x185
BTP-X M12x110
BTP-X M12x110
BTP-X M12x120
BTP-X M12x150
BTP-X M12x180
BTP-X M12x200
BTP-X M12x225
BTP-X M16x125
BTP-X M16x145
BTP-X M16x175
BTP-X M16x185
BTP-X M16x220
BTP-X M16x235
BTP-X M20x150
BTP-X M20x170
BTP-X M20x200

<7JG/T160iF(E; *HIEEMEE

[mm]

h1 [mm]
55
55
55
55
60
60
60
60
75
75
75
75
75
75
85
85
85
85
85
85
85
105
105
105
105
105
105
125
125
125

L [mm]
70
80
90
100
75
95
115
130
90
105
115
135
165
185
100
110
120
150
180
200
225
125
145
175
185
220
235
150
170
200

EEtfix[mm]
12
22
32
42
10
30
50
65
10
25
35
55
85

105

15
25
55
85
105
130

28
58
68
103
118
12
32
62

200
200
200
200
100
100
100
100
100
50
50
50
50
50
50
50
50
50
50
50
50
25
25
25
25
25
25
20
20
20

1200
1200
1200
800
800
600
400
400
400
300
200
200
200
150
200
200
200
100
150
150
150
100
50
50
50
50
50
40
40
40



